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QUESTION 1

Which two are true about changing the LOCAL_UNDO_ENABLED property to false in a CDB? (Choose two.) 

A. After the change, only a common user with the required privilege can create an undo tablespace in CDBandROOT. 

B. Any new PDB and existing PDBs are automatically configured to use the default undo tablespace in CDB$ROOT. 

C. After the change, only one undo tablespace can exist in CDB$ROOT. 

D. After the change, any user with the required privilege can create an undo tablespace in the PDBs. 

E. Undo tablespaces existing in PDBs must be dropped before the change. 

F. After the change, each existing PDB has to be reopened for the new undo mode to take effect. 

Correct Answer: AB 

 

 

QUESTION 2

Application PDBs, SALES_APP1 and SALES_APP2, must be created and they must access common tables of the
SALES_APP application. 

Examine these steps: 

1.

 Install the SALES_APP application, including the common tables, in the application root. 

2.

 Install the SALES_APP application in the application root and the common tables in both the CDB root and the
application root. 

3.

 Create an application seed. 

4.

 Install the SALES_APP application in the application seed. 

5.

 Create the SALES_APP1 and SALES_APP2 application PDBs. 

6.

 Sync the SALES_APP1 and SALES_APP2 application PDBs with the application root. 

7.
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 Sync the SALES_APP1 and SALES_APP2 application PDBs with the application seed. 

8.

 Sync the application seed with the application root. 

Which are the minimum required steps in the correct sequence? 

A. 3,4,1,6,8 

B. 1,5,6 

C. 1,3,5,6,7 

D. 1,3,5,7 

E. 2,5,6 

Correct Answer: B 

 

QUESTION 3

Examine this configuration: 

1.

 CDB1 is an Oracle Database 12c Release 2 database containing pluggable databases PDB$SEED, PDB1, and PDB2. 

2.

 PDB$SEED is open READ ONLY 

3.

 PDB1 is open READ WRITE 

4.

 PDB2 is MOUNTED. 

5.

 ORACLE_HOME is /u01/app/oracle/product/18.1.0/dbhome_1. 

You execute these commands before upgrading the database to the current release: 

For which databases will fixup scripts be created? 
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A. CDB1, PDB$SEED, PDB1, and PDB2 

B. PDB$SEED, PDB1, and PDB2 only 

C. CDB1 and PDB$SEED only 

D. CDB1, PDB1, and PDB2 only 

E. CDB1, PDB$SEED, and PDB1 only 

Correct Answer: E 

For multitenant architecture (CDB and PDB) upgrades, open up all the PDBs that you want the tool to analyze before
you run the tool. 

 

QUESTION 4

Which three actions are performed by Database Upgrade Assistant (DBUA)? (Choose three.) 

A. It recompiles all stored PL/SQL code by using utlrp.sql. 

B. It empties the RECYCLE BIN. 

C. It performs prerequisite checks to verify if the Oracle database is ready for upgrade. 

D. It sets all user tablespaces to "read-only" before starting the upgrade. 

E. It removes the AUDSYS schema and the AUDIT_ADMIN and AUDIT_VIEWER roles 

F. It increases tablespace size, if required, to meet upgrade requirements. 

Correct Answer: BCD 

 

 

QUESTION 5

PDB1 and PBD2 are pluggable databases in CDB1. Examine these commands: 
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CDB1 is then restarted. 

Which three are true? (Choose three.) 

A. PDB2 will be MOUNTED. 

B. PDB1 will be MOUNTED. 

C. PDB$SEED will be opened READ ONLY. 

D. PDB2 will be opened READ WRITE. 

E. PDB1 will be opened READ WRITE. 

F. PDB$SEED will be MOUNTED. 

Correct Answer: ACE 
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